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1. (i) Define ‘Chronospecies’.

(i1)) Write any fwo basic principles of ‘ICBN’.

ICBN’ & & & uRyd fagra fafew |
Time : 3 Hours | [ Maximum Marks : 80

. e . . 1) Write any two demerits of ‘Bentham and
Note .— The question paper is divided into three Sections (i) y

A, B and C. Write answers as per the given Hooker’s’ classification.
instructions.
fder - = T e, W e ‘w A woel § faifia ‘Srem T g e &% wIE aF A farea |
YIF WIS & RINTIR U+ & IW SIS |
Section—A 8x2=16 (iv) Define ‘Hot Spot’.
(Very Short Answer Type Questions) ‘g Toe’ I IR iR
Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one (v) Write name of any two primitive taxon.
sentence or maximum up to 30 words. Each .
question carries 2 marks. ol St ‘ot @' & AW fafe)
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(vi) Who proposed ‘Tunica-Carpus’ theory ?

fe-da fagra’ free 5/ wga foman T 2
(vii) Define ‘Velamen’.
‘e’ sl qRefeR Wit
(viii) Define ‘Parthenocarpy’.
“stfereRSR | Rl gRrfha IS
Section-B 4x8=32
(Short Answer Type Questions)
Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 8 marks.
gus—d
(1Y 3T q9)
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. Write a short note on ‘Helobiales’.

‘Zofetew’ W Tw giew feoon fafe

. Write difference between ‘Commercial Cork’ and

‘Bark’.

‘SHreEifaes Wik’ IR ‘e’ # o= fafEm)

. Draw a labelled diagram of T.S. of Bignonia stem.

‘ot T & STYRY e 1 MR o SET |

. Explain the structure of ‘Stomata’.

‘TY' I AT T FUA HITST |

. Write a short note on ‘Taxonomic Hierarchy’.

‘gfiten! TerE’ W Efia feoht fafem)

. What are the aims of Biosystematic ?

NN N~

AR & 29T FM T ?

. Write key characters of ‘Centrospermae’.

‘T’ & qed agu fafem
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9. Write a short note on ‘Senescence’. Trefafea w dfera fewfrt fafea .

ion— X16= .
Section—-C 2x16=32 (3) feeiorht T T 8+8
(Long Answer Type Questions)
11. What is ‘Polyembryony’ ? Explain its classification
Note .— Answer any two questions. You have to delimit

and importance.
your each answer maximum up to 500 words.

TEYUT FM T 7 THH TMAI0 IR HES Hl T

Each question carries 16 marks.

TUE—g ST | 2+8+6

(et T uve) 12. Explain the following :
Teor - =81 Q1 w9l & SR ST | 39 319 SRl Aferemas
500 w51 H gREifad wIfST ) 9@ 999 16 37T

i

(@) Making of Herbarium

(b) Function of Herbarium

o oo

frefafea =1 T sifsu .

10. Write short notes on the following :
(@) Basic structure of flower (1) efEw = o

(b) Anomalous secondary growth of dicot root () wEfem % Fr 8+8

MBO-06 / 450 / 7 (5) Turn Over MBO-06 / 450 / 7 (6)



13. Write short notes on the following :
(a) Pollen Allergy
(b) Dynamics of fruit growth
fr=fafea = dfea fewfrat fafeg .
(31) AR TerSit
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